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9, Which i hll that pises 2 feet for every 10 feet of run,
or a hull that ryses ) feet for every 13 feet of run? Explan.
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paralle]? Explain.
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Y=my+b
Find the slope and the y-intercept of the graph of the linear equation.

1. y=-2x-1 81—1x 0 91+2-ix

1)Slop& 2 8) Y=gxro 4) Y- 4X ]
yent= A sbpe=k  8lope=2ly
i Y-int = 0 U-int=-2

10. Explan how to find the x-intercept of the graph of y = 4x — 2.
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Man@mph the equation.

11. 3x-2y =6 12. x—-y=-2
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14. (0,3),(2,3)
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16. (9,-5),(6.4)
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17. The graph shows the relationship between temperature v (in degrees

Fahrenheit) and altitude x (in thousands feet).

a. Find and interpret the slope of
remp: Fkops 5 Fevcrﬂ
1000 O+

b. Write an equation of the line.

Y=-9¢¥S

c. Interpret the x-intercept of the graph.

X-in+ 1315 . Temp i5 O
Ot alnvude o€ 15 p0o¢

d. What 1s the temperature at 11,000 feet?

20°F
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